
*
+

Find# Part Description Specifications/Model Part # Qty
25 Strain Relief         **** Snap .400 Dia Blk 02-00005 ea. 1
24 Strain Relief         **** Snap .360 Dia Blk 02-00218 ea. 1
20 Switch Rocker SPDT 115v/230v Red w/Splashguard 02-00258 ea. 1
30 Motor Assy        ***** 115v, 1/4Hp 1650 RPM, 2 Spd 02-00284 ea. 1
31 Motor Assy        ***** 230v, 1/4Hp 1350 RPM, 2 Spd 02-00288 ea. 1
28 Washer 1/4" Rivet .26 ID x .50 OD x .06 Zp 03-00001 ea. 2
33 Foot Round 3/16 ID x 1.125 OD x .875 Rubber Blk 03-00003 ea. 4
15 Nut #8-32 Nyloc Thin Zp 03-00015 ea. 4
27 Nut 1/4-20 Nyloc Thin Zp 03-00029 ea. 2
17 Screw #8 x 3/4 AB Php Zp 03-00095 ea. 1

Insert 1/4-20 x .50 x .50 HH Al 03-00106 ea. 10
12 Foot Round 3/16 ID x 1.25 OD x 5/8 Rubber Blk 03-00131 ea. 4

6 Foot Round Push Mount .83 OD x .24 Rubber Blk 03-00202 ea. 8
13 Rivet 3/16 x 5/8 Tri Fold Al/Al 03-00204 ea. 8
4 Screw 1/4 x 20 x 1/2 Ser Hwh Nyloc Zp 03-00209 ea. 12

11 Power Cord Assy      ** 3 x 1.50MM H05VV CEE 7/7 25' (F259-230V) 04-00057 ea. 1
1 Housing                   * Polyethylene Fisher Blue 04-00063 ea. 1
2 Housing                   * Polyethylene Teal Green              (F259-SM) 04-00063-01 ea. 1
3 Housing                   * Polyethylene Turf Green      (F259-SP, -GRN) 04-00063-02 ea. 1

Housing                   * Polyethylene Bright Yellow 04-00063-03 ea. 1
34 Housing                   * Polyethylene Pearl Red                (F259-PR) 04-00063-04 ea. 1

Housing                   * Polyethylene Rein Orange       (F259-230v HE) 04-00063-06 ea. 1
Housing                   * Polyethylene Econo Black      (F259-US) 04-00063-07 ea. 1

5 Grill Inlet Pc Gl Blk 04-00064-01 ea. 1
19 Grill Outlet Pc Gl Blk 04-00065-01 ea. 1
29 Support Motor Pc Gl Blk 04-00066-01 ea. 2
18 Motor Cover Polypropylene Blk 04-00067 ea. 1
16 Retaining Clip Motor Cover Polypropylene Blk 04-00068 ea. 1
26 Fan Blade 16.5 Dia 3 Blade 25 Degree PPG Ace 04-00070 ea. 1

Bag 23 x 17 x 48 Poly 1.5 Mil 06-00045 ea. 1
Box 20.4 x 19.1 x 24.2 350Dwk Rsc 06-00108 ea. 1

32 Label Warning Turbo Indoor/Outdoor 07-00109 ea. 1
8 Label 230v, Model/Serial CE Turbos 07-00161 ea. 1

Manual 230v, Owners CE Ace (F259-230V, -230V UK) 07-00213 ea. 1
7 Label 115v, Model/SN UL/CUL Turbos Indr/Outdoor 07-00228 ea. 1

Insert Declaration of Conformity (F259-230V, -UK) 07-00242 ea. 1
21 Label                      *** Product, Ace        (F259, -230V, -230V UK) 07-00410 ea. 1
22 Label                      *** Product, Ace SM                         (F259-SM) 07-00411 ea. 1
23 Label                      *** Product, Ace SP                          (F259-SP) 07-00412 ea. 1

Manual 115v, Owners Ace 07-01475 ea. 1
9 Power Cord Assy      ** 115v, 16/3 SJTW 5-15P 25' 09-00046 ea. 1

  - multiple components to choose from for different models: voltage, size, color, et
  - if you order this item, you may need to order additional items marked with same number of +'s in order 
       to upgrade or complete repair

Ace TurboDryer
(Models: F259, F259-SM, F259-SP, F259- US, F259-230V UK, F259-230V, F259-230V HE)  

Symbol Definition

Ace TurboDryer (F259) Page 1 of 2



Ace TurboDryer Pictorial Drawing

Ace TurboDryer (F259) Page 2 of 2


